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No. Al Birk AL | Bl (Bidk)
1 | 7V vHa 9 cmAy k #k =
2 | AL 9 cmAw b FZ =
3 | =7 9cmAy b FZN M
4 | HAI VY 9cmAy k #k M
5 | FrXavwy 9 cmA v b FiZN H
6 | FrLom 9 cmAy k FZ =

VAR RN 9 cmFy k ok &
8 | A4 rm 9 cmA v k ok M
9 |ayw=x 9 cmARy b 4 H
10 | $rer 9 cmARy b #k =
11 | A= —Tax )L 9cmAv b #k M
12 | kBr=Fav 9 cmA v b EZN M
13 | XAT4—IT— 9 cmA > b HZS M
4 | 770%7 9 cmA > b FZ =
5 | hL=7 9 cmAy h #k =
16 | FFv= 9 cmAy b FZN M
17 | v v— 9 cmAy k EZ =
18 | B4 9 cmAy k #k =
19 | Ra=7 9 cmAy k FZ =
20 | RXFa=7 9 cmA v b #k =
21 | ~NIT T T4 A 9 cmAw b FZ =
22 | RUH A 9 cmAy h #k =
23 | vV —a—)LF 9 cmAy k £k M
24 | R MU= 9 cmAy k #k =
25 | AT ATV T A 9 cmAy k #k =
26 | EAR—E 9 cmARy k 4 H




